Name: Date:

Teacher: Class:

Division 402

What would happen if a ladybug ever got scared? Her eyes
would bug out.

Divide these numbers.

L 6+6= 18 72+6= ¥ 48+ 6=
2. 12+6= 19 36+6= % 60+ 6=
3. 66+6= 20. 54 +6 = 3. 42 +6 =
4 18 +6 = 2. 30+ 6 = 38. 24 +6 =
5. 6+6= 2. 6+6= ¥ 36+6=
6. 66<6 = 2. g+6= 40. 12 +6=
L 24+6= 4 6+6=_ = 4 30+6=
8. 79 :6= 25. 48 +6 = 42. 42 -6 =
9 B=6= 26. 30=6 = 43 18+6=
10. 36+6 = 21. 12 + 6 = 4. 60+6=
1. g+6= 28. B4 +6 = 4 66 +6=
12. 48 + 6 = 29 30+6= 6+6=
13. 70 16 = 3. g+6= 4l 42 +6 =
4. 18+ 6 = 3. 24+6 = 48. -6 =
15, A8 + 6 = 32. 36+6 = Q. 12+6=
6. =6 = 33. 18+ 6 = 0. §+6=
7. 60+ 6 = 3. 66 +6=
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What would happen if a ladybug ever got scared? Her eyes

would bug out.

Divide these numbers.

L 6+6=1 18 72+6=12 ® 48+6=8
2 12+6=2 19 36+6=6 % 60+ 6= 10
3 66+6=11 0. 54+6=9 3 42+6=17
4 18+6=3 2. 30+6=5 ¥ 24+6=4
5 6+6=1 2 6+6=1 3 36+6=6
6. 66+6=11 B 6+6=1 0. 12+6=2
" 24+6=4 4. 6+6=1 “-30+6=5
8 72+6=12 > 48+6=8 4242+6=17
% 6+6=1 % 30+6=5 . 18+6=3
10. 36+6=6 2. 12+6=2 4. 60+6=10
.6+6=1 8. 54+6=9 ® 66+6=11
12 48+6=38 2 30+6=5 % 6+6=1
3 72+6=12 0. 6+6=1 . 42+6=7
4. 18+6=3 3.24+6=4 B 6+6=1
1> 48+6=8 3 36+6=6 9 12+6=2
% 6+6=1 #¥18+6=3 M 6+6=1
1760+ 6= 10 ¥ 66+6=11
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